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Math 9 Adapted LG 9
Linear Equations — Creating a Table of Values

Linear relations have two different variables (such as y & x). We can determine the value of y if we
know different values of x.

Example: y=5x+2
Let’s solve for y based on different values of x.
Ifx=0 —>y=50)+2

y=0+2

y=2

fx=1 =2y=51)+2

y=5+2
y=17
fx=2 =2>y=52)+2
y=10+2 X y
y=12
0 2

We can put this information into a table.

> 1 /

Finish the table by determining the value of y when x is 3
and 4. Show your work below:
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Complete the table of values below for each relation. Show your work.

y=x+2 X

y=6x+9
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y=2x+10
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y= 4x

y = -4x

5)

y=-5x-3

X+7

y:

10)

X+4

y:

y = -9x

11)

y = -3X

7)

y=-2x-7

e+ IR o [ =|2|e 2R|B(B|%| o |>|o|R|w|5[8
¥ x § &
1 n u n
> x| w|ofw|s| > o oo > wlaln|eflaf > [x|o]m o|w
> =) = N
SEIHBEE e|olnl2 slolglo|2| w |=|5|2[=|2|g
« 7 ® 0 0 " 0 b T 0 ? b
b = @ &
I " I I
> w|o|o|n|a = w0 o| @ = T|r|o|o|e > [x|op|~ o
_ _ —_ —_
w0 0 ~ o]
oo~ o ol ||| ) -
Rl Rl Il K1 R Y R ) = - s - S P e - ¢
x + % 3
w ® o =
1 " " n
> m|w|o|w|y| > o o~ > o|t|o|o|e| >|x|[n|« w|o
- ~ ® =
A
e >
1
>
™
1l
> | x| | © .
! .
—
e
—
o] <
—
—
>
4
(@]
> (]
© <
' (®)
>
I
> x|~ wlo ﬁ
_—




Math 9 Adapted: LG 9

Name:
TA:

Identifying coordinates on a graph.

Points can be identified on graph by seeing where the point lines up with the x (horizontal) and y

(vertical) axis.
Ex. this point lines up with -2 on the x axis & 8 on the y axis.

!

YA
X i I L
- - Q = » - 4
7
A
6 ]
E
5 =
4
3
Q 0
] )
G
= 1
9 8 -7 6 -5 -4 -3 -2 -1 1 2 3 4 5 6 7 8§ 9 X
-1
S D
-2 ] =
-3
4
H
] -5
-6
P
=7 L]
Y w
g n
9
w
Tell what point is located at each ordered pair.
1) (+1,-2) 3) (+4,48) 5) (+8,-2)
2) (+3,+6) ____ 4)(1,-8) 6) (-3+2) ____
Write the ordered pair for each given point.
9) | 11) E 13) C
10) H 12) w 14) G
Plot the following points on the coordinate grid.
17) T (+8,-5) 19) K (+2,+2) 21) Z (9,4)
18) B (+4,47) 20) M (-8,-3) 22) F (+6,+0)
12) S 3)(4ee) L 5 (s82) D 7)(142) O 9) I (+248 11)
2)(+3+6) A a)(1,8) Y 6)(342) O 8)(648) I 10) H (75) 12)

We can write each point as an
ordered pair.

(X -coordinate, y-coordinate)

Vo
(-2, 8)

7)(-142)
8) (-6,4+8)

15)
16)

23)
24)

U (-8,+2)
R (+5,-5)

E (+3,45)
w (+9-8)

Cc (+9,48)
G (-6,+1)

13) X

14)

15)
16)

(-8,+8)
(+8,-7)

P
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TOPIC 6-b: Graphing Ordered Pairs: All Quadrants

E-69
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Tables of Values & Coordinates

Tables of values can also be listed as a set of x & y coordinate, where each set represents a point

on a graph.

For the equationy = x -6

Could be shown as set of coordinates: (x,y)

X y (-7, -13)
-7 -13
4 P 4, -2)
mEmil
-5 -1
-5, -11
5 o ( )
(0’ _6)
YA
19 These values can also be
:: plotted on a graph. Place the
16 point so the x &y value for
1 each point lines up with the
" correct axis. The first
12 coordinate is below, add in
" the remaining 4 points.
10
9
8
T
6
5
4
: Plot
1 these
Sa-3R2--0 -9 8 7 6 5 -4 3 -2 4 172 3 45 6 7 8 9 10 11 12 13 14 "X points;
=1
2
3 (-7,-13)
. (4, -2)
-6
7 (5,-1)
-8
o (-5, -11)
=10
-t (0, -6)
=12

E#E
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Graph the following tables:

Y.
X
-2
-1
0
1
14 18 12 11 10 8 8 T ¢ 3 3 2 - 0 11 12 13 18 X 2
— oLXo]
Yi
X
-2
-1
0
R T ERE: EED 0 11 12 18 18 X
. 1
2
— or-50)]
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Complete the table below and plot the points on the graph for the equation:

16
15
"

12
"
10

- L am D u®

y=4x+1

413121110 9 8 7 6 5 -4 3 2 1 1 2 3 4 5 6 7 8 9 10 11 12 13 14 "X
=

[IEEEXEN N

-2
“10
“t1
“2
“13
“14
15
“16
“7
“18

19

EE

Complete the table below and plot the points on the graph for the equation:

y=-+1

-12

@-13-12-11-10 & B -7 6 5 4 3 2 -1

EX)

RN ENNE

350

23333

1 2 3 4 5 6 7 8 9 1011

12 13 18 X

12

ERE



Income Earned
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Graphing in real life.

Macey works at Starbucks and is paid an hourly rate of $15/hr. She also gets an additional $10 for
each day that she works. Complete the table below and then graph the relation.

YA

Hours Income
. worked earned
. 1

140
N

120

100

80
(92

60

40

20

Hours worked

Figure # of
Number toothpicks
Describe the relationship between needed
the figure number and the number 1
of toothpicks needed for each
figure.
2

B EE B

Figure 1 Figure 2 Figure 3 3

10
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Create a table of values from a graph

CA | Cost of Shirts

80 []
260 (5, 75)
2 40 *

o I (3, 45)
®(1,15 .
0 2 4 6n
Number of Shirts

d A Distance Travelled
E 101 L
==
I R
= .

g
a
2-
0 ) | 4 | 6¢
Time (h)
S

?3 3 Slowing Down

60- ]
= 501 .
£ 10 .
g 301
2201

101

0 EREE 3 ¢

Time (s)

Name:
TA:
Number of Cost
Shirts (S)
Distance Time
(km) (h)
Speed Time
(km/h) (s)

11
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Reading Graphs

A'line is like a whole bunch of points in a row. We can use graphs to find y values for known x
values and vice versa.

This graph that shows the amount of money made per ice cream sold. ™ l’
How much money is earned if you sell 2 ice creams? T8
e Start on the x-axis (because it represents the ice cream cones) +18 /
e Find 2 and draw a line up until you hit the diagonal line. '
e Then, draw a line over to the y-axis. 1
We see the number that is on the y-axis is 6 dollars, so we would make 6 3 ‘2 /l
dollars for 2 ice creams sold. =
LIJ 0.
1223 . l[
~H—F
You try: | lee
How much money is earned if you sell 5 ice creams? ]
Ll
1/
o/ ‘

Use the graphs to find the numbers being asked for. # lce creams sold

What is the y-value when x is 47 What is the x-value when y is 37
4 /
]
2 — —
~
K 0 2 ]
| | [ O
y:
X:
What is the x-value when y is 37 What is the y-value when x is 27

12
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IS

5]

e

y:
X:
Approximate is the x-value when vy is 2? What is the y-value when x is 0.5?
—4 4 ’
4
—3 e
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Use the graph below to answer the following questions.

1.

Name:

TA:

How many T-shirts need to be sold to make a profit over $3007?

2. Estimate the profit made (extend the line) by selling 100 T-shirts.

3.

s it possible to have negative values for the y-axis (profit)?

Profit ($)

450

400

350

300

250

200

150

100

50

/

/

/

/

20

40 60 80
Number of T-shirts sold

14



